CronmocTb PaMoOK C gonamu

ba3oBasa CTOMMOCTb paMKu 15
LieHa BUAKMK 1
LleHa y3Koro Bepxa -3
Mapa 6okoByLLeK 7,5
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illych 600 600 0 0 1200 12 9000
illych 2000 1| 1 0 2000 4000 o} 401 26000
Anéxa64 500 500 0 0 1000 10| 7500
Anéxa64 500 1| 1 0 500 1000 o} 10| 6500
Macnos 500 500 0 o 1000 10] 7500
Anekceii0075 300 1| 1 0 300 600 o} 6 3900
CkenTuk 500 1 1 0 500 1000 0 10§ 6500
Makc 500 500 0 0 1000 10| 7500
Makc 500 1l 1 0 500 1000 0 10§ 6500
Oumep, 800 800 0 0 1600 16 12000
foxbee 500 500 0 0 1000 gy | 7500
Oner 500 500 0 0 1000 10| 7500
sleem303 2000 1 2000 0 4000 0 40| 32000
Lykapb 500 500 0 0 1000 10| 7500
LLlyKapb 500 500 0 o/ 1000 100 7500
igor 100 100 0 0 200 2 1500
igor 100 1l 1 0 100 200 0 2 1300
AnekcaHgp_ 1000 1000 0 0 2000 20§ 15000
MepBeab 2000 1 2000 0 4000 0 40| 32000
Bagum 500 1| 1 0 500 1000 o} 10| 6500
ANT97 1000 1 0 0 0 2000 of 7500
Utoro 7900|3400/ 4100 10000 4400/ 16800( 14000 288 218700
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Bok [lafaH ¢ BUAKOM 80| 188 Bec KomnnaeKtyrowux (1 wryka)
Bok [agaH 6e3 BUAKK 236| 212 bok pyT 0,036 Bepx y3K 0,061
BoK PyT c BUAIKO 1121 202 bok papaH 0,047 Bepx cta 0,134
Bok Pyt 6e3 BUnKu 24| 56,4 bok 145 0,018 Hwu3 0,054
bok 145 c Bunkom 144| 130
Bok 145 6e3 BUIKM 20 18 KonuuectBo aetaneit B ynakoBke
Bepx cTaHAApTHbIN 200| 1340 dapaH 50| Bepx cta 50
Bepx y3Kkuit 88| 268 Pyt 50| Bepx y3K 50
Hus 288 778 145 50] Hus 50
O6wuii Bec 3192




